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1. f (x) =2x3%3+3x2%2+x—5

/ 2
fv) = b+ x4 |
2, f (x) =—2x+3
/
‘Fw) 8 =2
3. f (x) =x2—2x
’%ﬂ =2X-2
4. f (x) =—18
/
JFm =0
5, £ (x) = (1/2) x%+5

/
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1: 1 () =—=x* 3 x~3
{(I'r)—.-l?f+3=o & o]
ned f@)-2+d2-4 N2 )
2. f (x) =4x2+4x+4
fl) = 9x+4 =0 eh<x
o-%
£(-4)=3 (x,9)=(-2.3)

3. f (x) =2x%+4x+3
Yoy 2 4% +4=0 bh<t
o I 2 L
4. f (x) =x%+2x?%+x+3
Llor= 3% +4x+1 =0 A<
(gx+ 1) (x+1) =0
g =

(xu)= (=1, 1)
{4124 =3

(%.4)= (4 3), (3. 5)
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1. f (x) =—2x%2+x—2,
flo = 4%+
2. f (x) =x2%2+2,

flyr=2%

Tl =3

3. f (x) =x°%+3x2%+x—5,

‘F(('x) -:.'Z’Xz‘l‘éfx'{' ‘

(x=0)

’F(lo)’l

(x=-1)

"F(/f'l) = "2

Ex. 4 ROH#MBRD, 525 RicBi) 28RO RALRD L.

1. f (x) =2x8,
‘”«Mé’xﬁ- ’f(i)=6
e =bxth P4

(x, yv) = (1, 2)

2 = bx) +b

34 anfblin (ry)=U.2) e la, T2 =ba-4

2. f (x) =2%%+7x—-2,
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'F(fy) =4x+" | '{S{O)""r]

3 J=Tx+b

=3 = Txdth

b:-—l

(x; ¥} = (0, =2)



Ex. 5 #WOZRAVWTUTO2REHKEZY 7 7I0RE.
W, FROHEN, HA, ﬂmtﬂ)ﬁ.ﬁﬁﬁﬁ%ﬁ'ﬁ?%i&b:t.

1. y=x2—-4x+6
Y'ax-4 =0 en<e

X=2, =heRXFre-
M- 4-3+b=2
QF!AJ) 2(2‘-17

2. y=x2—-2x+1+4
49f= 2 ~2 =0 ER<T
x=1

"= \-244=2

(x)=(.3)
3. y=x2+8x+15

Y248 =0 LR
X=-4
Y= -1
(x.9)= (-4, -1)
4, flx)=—x2—-6x+4
flx) z—2x-b =0 Rt
xK==3
31213
(% Fe)= (=3 13)
5. flx)=x2%2+2x+1
—F{,x)zge)(+1:o h<x
X ==
Fl1)=0
(o foen= (A 0)
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6. Y=L?—4L+3

22l ~4= 0wt
L23

Y=~

(L.Y)=(2.-1)

7. C=—P%+6P
C'= —=2P+b =0 eh<y
P=3
c=9
(p.c)=(39)
8. fW=2x2+4x+10
Tl 24X +4 = 0 Thwe
K=~
fe)=3

(x )= (—.8)
9. 0)=3C2—-12C—4
fley =bC -12= 0 thcr.

cCa2i
fay= b
Cc. )= (2.-\b)
10. f(x):%x"+10x+5
Fixy= 2ario = 0 whe
Kz~
f-40) = -195
(x fn) = (-40 95
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